e
e
o
c
L

MRX™ SCHEMATICS

TRIGGER

18



17

MRX™ PARTS LIST

u £ w v+

*

ASA036
BAROOL
BARO89
BLS039
FNDO89
FRGO83
FRGO8U
FRGO85
FRGO86
FRGO87
FRGO88
GRPO10
HSEO12
HSFoOu
HSF006
HSFO11
ITPO15
ITPO23
ITPO25
ITPO26
LPCO89
ORGOO1
ORGO02
ORGOOY
ORGOO08
ORGO29
PAKO89
REC089
RPNOO6
RPNO16
RPNO17
RPNO18
RPNO19
RPNO20
RPNO21

C/A Adapter Angled (diamond black)
Spyder Barrel Plug

MRX 14" Barrel (diamond black)
MRX Barrel Ball Stopper

MRX Feed Neck (plastic)

Magazine Ball Stopper & Spring
Magazine Ball Pusher w/Guide Pin
MRX Magazine Release Button
MRX Magazine Release Lock

MRX Barrel Shroud

MRX Shroud Sight

Wrap Around Rubber Grip (black)
Disconnect Hose 7.25"

Plastic Washer

Male to Male Adapter (MET x MET)
Metric Female to Standard Male Adapter
C/A Adapter Screw Nut

Eko™ Cup Seal

Eko™ Valve Body

Eko™ Valve Pin

Reservoir Plug MRX (diamond black) (semi)
Striker O-ring #14.3 1.7 70pu
O-ring #15 80

O-ring #11 80

O-ring #10 80

Flat Barrel O-ring #20 22.8 3.8
MRX Spare Parts Kit

MRX Receiver (diamond black)
Secondary Roll Pin (small)

Quick Disconnect Pin

Bolt Pin

MRX Magazine Release Pin

MRX Trigger Roll Pin (large)

MRX Sear Roll Pin (med)

MRX Sear Stop Roll Pin (small)

36

37
38
39
Lo
U1

L]
U3
uy
us
bue
47
us
L9
50
51

52
53
54
55
56
57
58
59
60
61

62
63
64
65
66
67

68
69
70

71

RPNO22
SABOO3
SCROO7
SCRO16
SCRO18
SCRO19
SCRO29
SCRO35
SCRO37
SCROUS
SCROU8
SCRO50
SCROS51
SER002
SPROO8
SPRO11
SPRO16
SPRO25
SPRO26
SPRO27
SPRO28
STB0OO2
STFOO1
STKO11
STKO14
STKO15
STKO16
STKO17
STPO89
TRFO15
TRS009
VBT089
VTAO089
31231
31232
31234

Barrel Guide Pin

MRX Safety Button

Valve Body Screw (A)

M5 x 12 Screw (A)

M3 x 8 Screw (+)

M5 x 28 Screw C/A Adapter Screw (A)
MU x 6 Venturi Bolt Screw (A)

MU x 12 Screw (A)

MUY x 12 Vertical Screw (AFH)

MU x 14 Shroud Screw (A)

Feed Neck Clamp Screw (A) & Nut
MUY x 16 Magazine Screw (+)

M2 x 8 Magazine Release Button Screw (+)
Sear (semi)

Sear Spring (semi)

Trigger Spring (semi)

Valve Spring

Striker Spring 110.mm

MRX Barrel Guide Pin Spring

MRX Magazine Main Spring

MRX Magazine Release Spring
Striker Bolt

Striker Buffer

Cocking Knob (semi)

Cocking Knob Cover

Picatinny Body Rail

Carrying Handle Locking Plate
Carrying Handle Locking Screw
MRX Striker Plug

MRX Trigger Frame

Single Trigger

MRX Venturi Bolt w/Bolt Pin
Velocity Adjuster & Spring Guide (diamond black)
MRX Magazine

Adjustable Car Shoulder Stock
Carrying Handle Mount w/Sight

* Item Not Pictured

(+) Cross-head Screw  (A) Allen-head Screw




